2019 FMANRFFLLFAARBEEE G —H
AR (20
B1% GEIFAL, 404
o AR (1~ 10 ANEL AN 445, 640 4y, (ERBNEL DY

AEIH . WA TR A H 2R )

xX—>+00

1. lim(1+—jx= C )

2.&]%[§§ﬁy=arcsinx, )ﬂJJy': ( )

C 1 1

R S S L
o= =X C1+x 1y
3. WRRHL £ (x) TE [a,b] FIELE, TE (a,b) AT f(x)>0, f(a)f(b)<0, ] £(x)
fE(a.p)F RO ¢ )

A3 B2 Cl1 DO

4. WERHE y=x*+e, MW= ( )

A. 0O B. e* C. 2+e€" D. 6+e¢*

5. ij%dx= )
de* 1+x
A. arctan x B. arccotx C. ! - D.0
1+x
0. Icostdxz

A. %sin2x+C B. —%sin2x+C C. %cost+C D. —%cos2x+C

7. FIANER IR IERKE D

1 1
A. | XPdx=x+C B. | —=dx=—+C
IX X X J.x3 X

X

C. Isinxdx:cosx+C D. Icosxdx:sinx+C



8 BBz = (r—y)", WE= € )

A (x=»)°  B.—(x=»)° C.10(x—y)  D.-10(x—y)
9. YERRH 2 =2(x—y)-x*—y?, MIHMAS N D

A. (0,0) B. (-1, 1) C. (1,1 D. (1, -1D

10. BRI BENLAZ & X IR AN

X -1 0 1 2

P 2a a 3a 4a

Wa= C )
A.0.1  B.0.2 C.0.3 D.0.4
FIHE AREFE, 110 7))
T 1120 /N, B/NE 4 7r, 3E40 . BB RIREES
AR AN

11 x5 0B £(x) 5 3x MG A, Wm0

x—0  x

2x_
12. lim&_—1 =

13, R f(x)=vx+ x5 W f(1)=
14, & x4 f(x) =R EL T f(x)=

15. &E{iﬁy:lnsinx , dy=__

16. ?dx=
COSvV X
17. J.de=

18. J._ll(xcoszx+2 Y =

AY Mz, y 2
19, B E s =, W2
X Ox0y




20. iﬁ@iﬁz=sinx'lny, dz=

21. m+i%21g52x "
22. WK é&f() v R ()

1-x



24. Tl“ﬁrw 13 dx.

e xIn’x

25. = MMEHPE 10 Meferk, Hrp 748 M, 34 a0, WPHER 2
A, WA AN CPTEUN 2 M EEIREOANE T, SKREFE A R AR
HP@A).

26-&|$l§§ﬁf(x):ax3+bx2+cx Ex=2 AbEVEMAE, &5 (1, -1) Nz
y=fE) PR, Ka, b, c



27. E‘%ﬂ i&f()ﬁﬁ ;E& NS Ef =0, Ixfx)dx 4, ij.xf

28. B é;ﬁzz:___, M L 2 % g
y x 6y



2019 FRRN R E AR LTI AR EEE G 5K

mAEE (2D WAEE R

(%ﬁ]%%%gmmwm%naﬁzé

X—>+00

2. [ZEX]B

(#7113 =(arcsin x), _

l—xz.
3. [BER]C

CAET ] 2 S E BTN £ (x) 72 (a,0) b0 % R H R HE H 1

4. [ZBEX]1B

[EHTY v =3x7+e",)" =6x+e", )" =6+e", y! =¢*

5. [HFE]1C
73 d 1 1
— dx = .
[ﬁéﬂ‘ﬁ] dx? 1+x° * 1+ x?
6. [ZFZXE]A

(ﬁﬁ*ﬁ] Icos 2xdx = %sin 2x+C

7. [&%1D

b ] I;(2x+1)3dx=%J.01(2x+1)3d(2x+1)=%oi(2x+1)4‘;:1()_
8. [BHX]1C

(%ﬁlm%%ﬁﬁﬁﬂ%%:mkﬂ?

9. [HFX1D

[i#tT]) %%ﬂ%:2—2x,%:2—2)}, A0 0% o, BB (1, -1),
ox oy ox oy



i 02002 5 02 G, da—0-(2)e(-2)=4<0, FElt (1,

ox’ oy OxOy
72 BRI PR AR 5
MEET A

[AEMT) 2a+a+3a+4a=10a=1=a=0.1

11. [&%] 3

[t ] Hﬂ%ﬁﬁ%ﬂm@:u Eﬁzlim@ﬂnm@ﬂ
x—0 X x—0 X x—0 X

12. [&Zx]2

[ et ] hm 1—11mze2x=2.

x—0 1

13. [&%] %

1+2x 1+2x1 342
[ i) f()—2 — , R )= NS

CER]Y 2

-1)

CARNTY B PN [ (o =22 +C 5 W (6)= ([ f (@) = (& +c) 2x

15. [&ZX] cotxdx

[#H71] dy=d(nsinx)= cosx

sin x

dx = cot xdx

16. [&%) -Lic
X

(i) L=l tec=tic

X

[ ?E] ZSIH\/;+C
[ﬁﬂﬁ’ J'COS\/_dx 2Icos\/_o dx ZIcos\/_d\/_ 2s1n\/;+C

18. [&%x] 4



1
[T ] J: (xcos® x +2)dx :fl xcos” xdx +2x = 0+4=4.

19. [&%x] -<

2

o ¥ 82 »
D e
X

X~ Ox0Oy x’
20. [&HZ%] cosxlnydx:sinxldy
y

sin x

[f#HT] dz=d(sinx-Iny)=1In yd(sin x) +sin xd(In y) = cos x In ydx + dy.
21. [&H%]

£ 1-— I-lim— 1
lim—— =lim—% =—""% =

l+x’—xe2x 1-x’
(1+x)? (1+x3)*

f(x)
23. [&H%]
é\x=sint.—%<t<%, NI dx = cos tdt

ecostdt = —a’t—tant+C

1 1
dx =
J.\/(l—xz)3 i J.\/(l—sinzt)3 cos” ¢

I ¢ = arcsin x, E&ﬁj\/idx—taner—tan(arcsmx)+C
(I-x
24. [&%]
or 1 (I
dx = —d(nx)=—+—-= =—
.L xln X L ln3x( ) 2(1nx)ze 2
25. [&H%]

A NPT 2 MR ERBUE AN, B A SRR AU 2 AEkd 1B



7% AR HE CieCy 7
10

26. [%%]
S0 f'(x) =3a* +2bx + ¢, ["(x) = 6ax +2b, Hﬂa:f(x)ﬁx=2 S BAFARAR. U]
f'@)=12a+4b+c=0, 51 (1, —1) 72 y=f(x) A A £0)=-1.70)=0.

a+b+c=-1, ., . 1 3
Ha=—,b=—"c=0.
{6a+2b=0, Wefda=o.b=—7
27. [&%1]

sz'(x)dx =J:)l x*df (x) = xzf(x)|1) - Llf(x)
= () -2[ of (x)dx=0-2x4=-8

28. (&%) Fhy-=1-1
x oy

0z 1 oz 1
pip oL, &L
Ox x> oy Yy

ﬁ&xza—zwtyz%—xz-[—Lj+y2-iz=—l+l=0
y

ox oy N x’



